ITI Electronic Mechanic 2nd Year Module 8 Sensor,Transducer and
Application

(1). Which sensor detect the presence of objects without any physical contact? |

DI 1 AR foreit ot i Tudh o foT axganl &1 SuRRUTT HT U Tl &2
(A) LVDT

(B) Load cell | @IS Id
(C) Strain gauge | @f{ﬁﬁf
(D) Proximity sensor | IS IR

Correct Answer : D

(2). What is the use of resistance hygrometer? | UfaRIY TS dMHTUT BT SUANT T
87

(A) To measure light intensity | USTRI @1 digdl &I AU & fag
(B) To measure humidity | 51 &1 A0 & g

(C) To measure temperature | QTUHT &1 TG & felQ

(D) To measure pressure | <919 B AU & forg

Correct Answer : B

(3). What is the application of thermistor in sensing circuit? | AR gfhe A

YfHeR BT ST T ]2

(A) To measure displacement | Ta®ITIT &I AR & forw
(B) To measure pressure | G&Td ! HIUH o foTg

(C) To measure temperature | ATGHTT &I HATYH & foT



(D) To measure light intensity | Wﬁ?ﬂﬁﬁﬂﬁ%ﬁ‘l’q

Correct Answer : C

(4). How the increase in temperature affects the resistance value of the positive
temperature coefficient (PTC) component? | dIUHIH H q@ b RIHD dTUHIA

UM (PTC) TCdH & UTRIY Hed DI vl THTAT il 62

(A) Resistance value decreases | UfaRI¢ Hed &H g1 oIcil &

(B) Resistance value increases | UTcRIY Hed §¢ STl §

(C) Resistance value remains the same | UfeRIY Hed U &1 38T &

(D) Resistance value becomes infinity | ufeRry HA 3Hd fﬁ\ﬂldl %

Correct Answer : B

(5). What is the range of temperature measurement using thermocouples? |

thermocouples T STINT HRPb dTTHT fohg HIHT deb AT Sl JohdT 872

(A) 4°to 100°C | 4° ¥ 100°C

(B) 101°to 250°C | 101° ¥ 250°C

(C) 270° to 3000°C | 270° ¥ 3000°C
(D) 3001° to 3500°C | 3001° ¥ 3500°C

Correct Answer : C

(6). What is the name of device used to convert a physical quantity into its
corresponding electrical signal? | Ud Wi AT BT 3P T f&qu Tdohd |

yRafdd & & folu SdaTa {5 S aTel SUBROT BT T FT 22
(A) Amplifier | Qm?ﬂw
(B) Transducer | W




(C) Oscillator | 3Nferex
(D) Modulator | =FATUH

Correct Answer : B

(7). What is the full form of RTD used as a sensor? | JWHwgd Ugdd RTD b

qof U T 82

(A) Remote Transistor Detector | RHle gi\inNCQ fScacy

(B) Repulsion Type Detector | UfIB N YR fgeae
(C) Reluctance Transmitter Detector | e EA'IHIHEQ fScaex

(D) Resistance Temperature Detector | ORIy agHH feeder

Correct Answer : D

(8). What is the application of strain gauge? | @W%WW%’P
(A) Temperature measurement | dUHIH HIU

(B) Pressure and displacement | qdld GﬁTﬁRW

(C) Radiation measurement | fafdur A

(D) Compression and tension measurement | Fcﬁ?a:f GﬁT(_Fﬂarqu

Correct Answer : D

(9). Which is functioning as the active type transducer? | I A1 Gfch T UHR b
ISR & 70 H B S |1 |]?

(A) Thermocouple | YAIPUd
(B) Potentiometer | THTd ATU- T T

(C) Dielectric gauge | feUdifaeed Td




(D) Variable capacitance pressure gauge | é&@am USR o]

Correct Answer : A

(10). Which signal is used by the passive transducer to produce output signal? |

3{T3cYC R &1 TG DR o o1 FfShd SISy eR gRT g Riet o
SUINT o1 ST 32

(A) Magnetic signal |WW

(B) Excitation signal | 3o Jobd

(C) Self-generating signal | ﬁaaw

(D) Light radiation signal | UHT fafeeur Tahd

Correct Answer : B

(11). What is the application of LVDT? | LVDT%B'Q'CI}FTW%?

(A) To reduce temperature | ATIHT &HH B & iy

(B) To measure displacement | Wﬁﬂ]ﬂﬁ%ﬁﬂ

(C) To measure residual stress | WW@W?W
(D) To measure speed | ‘T[%fﬁﬂ'l’qef%ﬁ'l'q

Correct Answer : B

(12). Which component is used as the transducer in the measurement of

displacement? | 1 T g fARITYH &1 AT H TSR & 0 H T forar




TARGET
TARGET

e N
‘\\m\m e

TARGET

(A) Resistor | Jp-aren
(B) Inductor | URY DTl
(C) Capacitor | TYTRF

(D) Quartz crystal | GDICZ\YI fopted

Correct Answer : B

(13). Which device is used to convert force into electrical signal? | ﬁ:f-ﬂT

UG 9 & fagyd Yoba H uRafdd - o forg uaeT foa sirar g2
(A) Load cell | TS I

(B) Thermistor | &R

(C) Thermocouple | YHIHTA

(D) Photoelectric sensor | uﬁzﬁgﬁmw

Correct Answer : A




(14). Which measurement is carried out by this test? | ﬁqwmsﬂuﬁwm
fopaT STaT 82

(A) Vibration measurement | CAE R

(B) Temperature measurement | dIYHH HIY
(C) Strain measurement | d-Id HIY

(D) Displacement measurement | IEEIICEREIL

Correct Answer : C

(15). What is the function of resistance strain gauge? | UfoRIY 19 TS &1 BRI
T g?

(A) Measurement of power | IERNICEINE

(B) Measurement of torque | C\Igb & HIGH
(C) Measurement of voltage | el BT AT
(D) Measurement of ampere | QTfﬁ'CITWIITq:T



Correct Answer : B

(16). Which sensor is suitable for process temperature measurement of steel? |

B T YR Wl 1 UfsbaT arqH {10 3 1T Iuged 37
(A) Thermistor | YT

(B) Strain gauge | [apfd yHU®

(C) Thermocouple | YHIHTA

(D) Capacitive transducer | HHTRA TRISRER

Correct Answer : C

(17). Which type of sensor gives quick and precise measurements? | g usR

BT YW AR 3R Db AU <l 52

(A) Load cell | s Id

(B) Electrical strain gauge | ﬁ?{lﬂ?ﬁlﬁﬁﬁ

(C) Mechanical strain gauge | TifA® dq1g I
(D) Hydraulic strain gauge | B@%Wﬁ\_ﬂ

Correct Answer : A



(18). What is the name of the part shown? | |3@||Q Ry ‘J-I'I"TW:IWTRIT%?

g DIRECTION OF STRAIN —_—

(A) Thermistor | yfHfex

(B) Strain gauge | WW

(C) Inductive transducer | W(W)
(D) Temperature detector | agHH feeaex

Correct Answer : B

(19). Which test is conducted through the circuit setup diagram? | gfdhe qesm

3G P ATHH A I TT U&7 {1 ST 82

T




(A) Sound control test | egf= fAd=ror uteqor

(B) Speed control test | TTfa f=or oteqor

(C) Temperature control test | arga g uteon
(D) Light level control test | @Tg¢ ¥R WR fd=ror udterur

Correct Answer : C

(20). What is the maximum temperature of platinum RTD device? | ﬁﬁ:ﬁ:{ RTD

fEarsg &1 B aH dua= R 32

(A) 500°C

(B) 650°C
(C) 800°C
(D) 950°C

Correct Answer : B



